Math 123 Exam 2A
November 10, 2010 Professor Ilya Kofman

NAME: /( £

1. Evaluate each expression using the graph above.
Z (a) (f+9)3) =_Lf_ (f) Does f(z) have an inverse for all z? Y @ ;

2-£b) (fg)(1) = -{ (g) Does g(z) have an inverse for all z7 Y @ ’
2 @ GonW=_5_
2 @ (fogonw=_1_

2. You want to fence off a rectangular garden adjacent to a barn (with no fence
along the barn). Find the area of the largest garden possible with 80 ft of fencing.

Area = ?@O

Lty = 30

A (o= (O(80-26)
= S8 =~ 25l

Mok at K=20 (s0 by 40>
- A(2)= §00
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3. If f(z) = z? — 8 and g(z) = vz + 5, find the following.

3 (a)fog e -3
3 Mlgof — ]XQ'-’TS

3 @@ —

e 4. Find the inverse of f(z) = /5 — 3z. fHz) = > 3

y= 5
. X= C‘]”-— 5’)/—'3 3 6)(

g”“ 5. Find the inverse of f(z) = In(z/3). [fz) =
y= b )
3el=x

6. Evaluate the following expressions.

; (a) log, 80 —log,5 = —' /O?L{ /é — 2'

7 (b) loge 4 - 7 W5 %@

|
3 (c) In & i 5/2__
{
|

| 6 77. Combine into a single logarithm: In(5z) + 3In(z? 4+ 1) — 1 In(3z — 1)
1 5% (x5Y
\ s (EX) (0
| o
M
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/ g 8. If Ina=4, Inb= -8, Inc=6, evaluate the following expressions.

(a)lnggz—s el 5/,,'6}, /2/@46 nll gﬁc
20 + (i —(§ = /9
(b) n(avh) o 3
- /&a + é}h‘( 1 ;/Q\C/ _— 3
- 4 -9 + 3
(c) In (a/e) -
= foa — | = 3
i M
| olve the following equations AL
. ¢ 9 Solve the following equations. 077¢ //06

[ z
(@) 62— g (xw) /974 = S$X /s7 7
X:w 0.677

(b) logs(11 + 2z) =4

[(+2lx = 3({: 8/

2x =79
X = T

M (b-X) = %
‘ ~ 3y
(x=e T = k=6-¢

X= 3,89

30
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10. Suppose $5,000 is invested in an account paying 4. 5% interest per year (APR).
(a) Find the amount in the account after 6 years if interest is compounded

monthly.
Ol 2
46 = §990 (1+ 22) =g 516 =

(b) How long will it take for the account to have $8,000 if interest is com-
pounded semiannually?

| 2¢ |

P com(1e QL) = %800
(1022 = %

(/.OL?’S') 1/97 S//S’

L= 10.56 9

(c) Find the amount in the account after 6 years if interest is compounded
continuously.

6 b= son0 Y =765 82

2€ g

(d) How long will it take for the account to have $8,000 if interest is com-
pounded continuously?

o e(g,ov‘s‘/%
.04 ¢ = L (%)
= (0. 91 45

— Y900



